
2  X         = 10          X   4  = 8      5 X       = 10          X 10 = 20    6 X       = 12 
     

12 X       = 24          X 5 = 25      4  X         = 12          X 10 = 50    8 X       = 16 
     

 5 X         = 20             x 3 = 18        4 X        = 16         X 8 = 24     5  x        = 40 
     

3 X         = 27            X 7 = 63        5  x        = 45          X 9 = 81      8 X       = 56 
     

Snoopy Missing Number Multiplication. 

Oh dear Snoopy has ruined Charlie Brown’s homework, can you help him to 
work out the numbers that Snoopy has covered with his muddy paws. 


